

ABBSOFT COMPUTERS

Internet Programming & Web Designing
1 Marks

1. URL is an acronym for

a) Universal research locator

b) Universal resource locator

c) Uniform research locator

d) Uniform resource locator

2. The following in best suitable for remote administration of a computer

a) WAIS   

b) Browsers

c) Telnet

d) None of the above

3.  Www.lycos.com was developed by

a)  Cambridge university

b) California university

c) Carnegie-mellon university

d) None of the above

4. ARPA is acronym for

a) Applied research project agency

b) Advanced remote project agency

c) Applied remote project agency

d) Advanced research project agency

5.  VSNL is an acronyn for
a) Vishesh samachar nigam ltd

b) Virat sanchar nigam ltd

c) Videsh sanchar nigam ltd

d) Videsh samachar nigam ltd

6. TCP is acronym for

a) Transmission control protocol

b) Transit control protocol

c) Transmission calling protocol

d) None of the above

7. The network address of all ones represents

a) This network                            

b) All network

c) This node    

d) None of the above

8. IMAP is an acronym for

a) Internet mail access protocol

b) International mail access protocol

c) Interactive mail access protocol

d) None of the above

9. URL is the acronym for

a) Universal resource identifier

b) Uniied resource identifier

c) Universal reference identifier

d) None of the above

10.  HTML is acronym for

a) Hyper text marking language

b) Hypertext making language

c) Hypertext markup language

d) Hyper transport markup language

11.  The domain name “.gov” stands for

a) U.S.Governmet

b) Any Government

c) Developed nations government

d) None of the above

12. BBS are ventures usually run by

a) Government

b) Institutes

c) Students

d) None of the above

13. The actual number of usable class “A” network is

a) 127                                              

b)  128

c) 126

d)  None of the above

14. While sending e-mail addresses typed against BCC receive____________

a) Blank Carbon Copy  

b) Block Carbon Copy

c) Blind Carbon Copy    

d) None of the above

15.  http stands for

a) Hyper Text Transfer Protocol

b) Hyper Text Transfer Process

c) Higher Text Transfer Process

d) None of the above

16.  POP is an acronym for

a) Process Order Protocol 

b) Post Order Protocol

c) Power Order Protocol 

d)  Post Office Protocol

17.  BBS based message can be echoed across the world through

a)  Globalnet 

b) Fidonet

c) Didonet  

d) Internet

18.  E-mail works on

a) Forward and Backward Principle

b) Store and Retrieve Principle

c) Store and Forward Principle

d) Front and Back Principle

19.  The Web relies on the following mechanisms to make it resource readily available.

a) A uniform naming scheme

b) Protocols

c) Hypertext

d) All the above.

20. WWW stands for

a) wide world web

b) web world wide

c) world wide web

d) world web wide

21. WINS stands for

a) windows intranet named service

b) world internet name server

c) world intranet named service

d) windows internet name service

22. SLIP is an acronym for

a) selected line input process

b) selected line inputs provider

c) serial line internet protocol

d) serial line input process

23. .PPP is an acronym for

a) process to process protocol

b) process to process pointing

c) point to point process

d) point to point protocol

24. A modem is used for

a) to connect local area network to tcp/ip network

b) to connect internet via telephone line

c) to connect internet via satellite

d) all the above

25. OSI stands for

a) open system interconnect

b) open system interface

c) other system interface

d) none of the above

26. Which of the following is not a layer of the OSI reference model.

a) Session

b) Data transmission

c) Network

d) Physical

27. SMTP stands for

a) simple mail transfer protocol

b) single mail transfer protocol

c) sequential mail transfer protocol

d) none of the above

28. email works on

a) forward and backward principle

b) store and retrieve principle

c) store and forward principle

d) None of these

29. the domain name “gov”stands for

a) us government

b) any government

c) developed nations government

d) none of the above

30. The decimal range of network address for class “B” network is between

a) 127-190

b) 128-190

c) 128-191

d) 127-255

31. The _________ element can be used to identify your html file to the outside world

a) title

b) body

c) head

d) none of the above

32. There are _________level of heading in html

a) three

b) four

c) five

d) six

33. The following html tag is used to display the content as a moving text

a) <marquee>

b) </img>

c) <a href>

d) none of the above

34. html comment should be enclosed between

a) <!-- and -- >

b) <! And !>

c) <!--- and –“” >

d) none of the above

35. _________ tag is used before beginning of the paragraph text

a) <textarea>

b) <sup>

c) <p>

d) <h1>

36. html document have a extension ______

a) .htx or .htxl

b) .htm or .html

c) .hmt or hmtl

d) none of the above

37. to get the unordered list we use

a) <h1>

b) <hr>

c) <ul>

d) none of the above

38. ftp application are

a) internet browsers

b) used to send email

c) used to download and upload files

d) none of the above

39. modem speeds are measured in

a) bsp

b) bps

c) bds

d) none of the above

40.  If you want to allow to play music on your web page with Internet Explorer; will not work with people browsing with Netscape. 

a) <BGSOUND SRC=sounds.wav loop=infinite>

b)  <Bgsound = abc.wav loop =infinite>

c) <background sound= sound.wav loop= infinite
>

d) None of the above 

2- Marks

1) Which of the following is not correct in regard to the E-mail system

a) Using encryption you could electronically deliver confidential documents saving time and money

b) Limited only to local area network

c) Cost of sending messages across the world is same as that of the sending across the city

d) If the recipient is not around, the message is delivered to this mailbox
2) In Microsoft Outlook Express, if the same e-mail has to be sent to many addresses what can be done?

a) The addresses are typed in the to box separated by comma or a colon

b) E_Mail are sent one by one typing the addresses separately

c) Same messages cannot be sent to different users

d) None of the above

3) In India E-mail through Internet service provider is available since

a)  August 15, 1994  

b) August 14, 1995

c) August 15, 1995  

d) August 14, 1996

4) The purpose of markup is to

a) add hypertext capabilities

b) enhance the document

c) both A & B

d) none of the above

5) For abbreviation we can use 

a) <abbr> </abbr> tags

b) <acronym>  </acronym>

c) Both  of the Above.

d) None of the Above.

6) To View the source code of the Web Page :

a) click at View Menu Bar then at Source Option.

b) Click at Edit Menu Bar then at Source Option.

c) Click at Favourites Menu Bar then at Source Option

d) None of these

7) The purpose of markup is to

a) Add hypertext capabilities

b)  Enhance the document

c)  Both a) & b)

d)  None of the above

8) The application of creative mixer is

a) To control only output of audio signal

b) To control only input of audio signal

c) To control both input and output of audio signal

d) None of the above
9) The main factor in the rapid growth of net was the inclusion of_______protocol in the Berkely versions of_________


a) TCP/IP, Xenix                  

b) TCP/IP, Linux

c) TCP/IP, Punix                  

d) None of the above

10) Every resource available on the wed has address that may be encoded by a

a) URL                                 

b) HTTP

c) BOTH A)&B)   

d) None of the above

11) To quote any text in the block wise  we use :

a) We use <blockquote> </blockquote > tags.

b) We use <block> </block> tags.

c) We use <quote> </quote> tags.
d) None of the above
12) When we want to  Tell the browser that you want to continue the line with no breaking, preventing the line from getting cut of and returning to the next line. Then we can use the tags are :

a) <nobr> type the text here <nobr>

b) <br> type the text here </br>

c) None Of the Above

d) Both a) and b)

13) Command which changes the format of the text to signify an address. This is generally used with e-mail addresses. 

a) <ADDRESS>support@pctiltd.com</ADDRESS>

b) <ADDR> support@pctiltd.com</ADDR>

c) Both Of the Above.

d) None of the above

14) Which of the following is true 

i) The lang tags is used to interpret a page’s document,Define the lang used to interpret

ii) En stands for English

a) Both are true

b) Both are false

c) (i) is true

d) (ii) is true

15) which of the following is false

i) euc-jp is a code for English encoding

ii) PARAM Elements specify the set of values that may be required by an object at runtime

a) Both are true

b) Both are false

c) (i) is true

d) (ii) is true

16) To specify the direction of text and tables_________  attribute is used 

a) Dir= left | Right

b) Direction= Left | Right

c) Dir=LTR|RTR

d) Dir=L| R
17) State True n false

i) The axis attribute will be used to place into conceptual categories that can be used to place cell into conceptual categories that can be considered to form in an n- dimensional space

ii) Nowrap attribute is used tells visual user agents to enable automatic text wrapping for this cell

a)  Both are true

b) Both are false

c) (i) is true

d) (ii) is true

18) Those controls which name / value pairs are submitted are called

a) Paired Controls 

b) Proper Controls

c) Adjacent Control

d) Successful controls

19) __________ define san ordered sequence of style sheets where rules in later sheets have _______________ precedence than earlier ones.

a) Mix, lower

b) Adjoin, higher

c) Cascade, higher

d) Dependecy, lower

20) Which of the follwing is true

(1) <del> ……..</del> Delete Section

(2) <insert> ………</insert> insert Section

b) Both are true

c) (1) s true

d) (2) is true

e) Both are false

4 Marks

Match the following

	a) FTP Server
	A. Act as a switch board fro Internet based  online-chats

	b) News Server
	B.  Store usenet newsgroup articles that you can read and send if you have a news client or news reader

	c) IRC Server 
	C. Handle Incoming and outgoing mail 

	d) Mail Servers
	D. Store files that you can read and send if you have a news client


a) A& A, B& B,C&C, D &D

b) A &D, B & B, C & A, D & A

c) A & C, B & B, C & D, D & A

d) None of these

2)  Which of the following is not an advantage of LAN

a) Share expensive hardware with anyone on the network

b) Reduce the chance of computer viruses and unauthorized data 

c) Running wires between all the computers on a network can cost as much as the LAN itself

d) Establish data and mail links between otherwise incompatible computer systems

3) Match the following 

	A. General Atomics , CA
	A. Provides registration services

	B. AT & T, NY
	B. Internet Engineering Tasks Forces 

	C. Network Solution, VA
	C. Provides Directory & Database Services

	D. IETF
	D. Provides information services


a) A& A, B& B,C&C, D &D

b) A & C, B & B, C & A, D & A

c) A & C, B & D, C & A, D & B

d) None of these

4) Which of the information not provide by internet

a) Magazines  & News Papers

b) House Hold shopping Items

c) Health consultation

d) None of these

5) Match the following 
	A. Shouting 
	A. Is message that returns to you , because it cannot reach the destination

	B. Bounced 
	B. The software that you install on your PC tos end and receive E-mails 

	C. E-mail Clients 
	C. Is angry or insulting message directed at one person,.

	D. Flame 
	D. Written in capital letters is annoying – and hard to read , this 


a) A& A, B& B,C&C, D &D

b) A &D, B & A, C & B, D & C

c) A & C, B & B, C & D, D & A

d) None of these

6) Which of the following is true

i) POP is used for simply retrieving and deleting the messages while Using IMAP We can organize our mails and read them on the server itself.

ii) IMAP can work on any of the three basic model of communication, POP depends on SMTP to send Emails

a) i)

b) ii)

c) Both i) & ii)

d) None of the true

7) Which of the following is true 

i) On the internet, the word ADDRESS refers to an electronic address

ii) There are two type of address

iii) I does not define the address on the internet

a) All are true

b) (i) & (ii) True 

c)  All are false
d) (i) &(iii) are true
8) The class “B” network format is

a) Network. Node. Network. Node

b) Network. Node. Node. Node

c) Network. Network. Network. Node

d) Network. Network. Node. Node

9) Match the following 

In img element

	A. Src
	A. Define the height and width of image 

	B. Longdesc
	B. Specify the location of the file

	C. Name
	C. Specify a link to long description of the image 

	D. Size
	D. Names the element


a) A& A, B& B,C&C, D &D

b) A & B, B & C, C & D, D & A

c) A & C, B & D, C & A, D & B

d) None of these

10) Rules for rendering objects are

i) The user agent must first try to render the object, it should not render the element’s  contents

ii) The user agent must not try to render the object, it should render the element’s contents

iii) The user is always able to render the object.

iv) If the user agent is not able to render the object fro whatever reason it must try to render its contents.

a) All are true

b) (i) & (ii) are true

c) (ii) & (iii) are true

d) (i) &(iv) are true

11) In the Applet element which of the attribute is used as 
Match the following

	A. Code
	A. This attribute specifies a comma- separated list of URLs for archives

	B. Object
	B. This attribute either specify the class file that contains the applet’s compiled applet subclass or the path to get the class

	C. Archive 
	C. The attribute specify the base URL for the applet.

	D. Codebase
	D. The attribute names a resource containing a serialized representation of an applet state.


a) A& A, B& B,C&C, D &D

b) A & B, B & C, C & D, D & A

c) A & B, B & D, C & A, D & C

d) None of these

12) Client-side image maps: MAP elements 

	A. Name
	A. Specifies the shape of a region 

	B. Coords 
	B. When set, this Boolean attribute specifies specifies that a region has no associated link

	C. Shape
	C. Assigns the anme to the image map defined by map element

	D. Nohref
	D. Specifies the position and shape being defined on the screen


a) A& A, B& B,C&C, D &D

b) A & B, B & C, C & D, D & A

c) A & B, B & D, C & A, D & C

d) A & C, B & D, C & A, D & B

13) In Clients side image maps which is not true

i) User activates a region of a client side image map with a mouse,

ii) The pixel coordinates are interpreted by the user agent

iii) The user selects a link that was specified for the activated region and follows it.

iv) A user activates a region of server side image map.

a) All are true

b) (i) and (ii) are true

c) (i) and (ii) and (iii) are true

d) Only (i) is true

14) Match the following :

	A. Default
	E. Define rectangular region

	B. Circle
	F. Define circular region

	C. Poly
	G. Define entire region

	D. Rect 
	H. Define polygon region


a) A& C, B& B,C&D, D &A

b) A & B, B & C, C & D, D & A

c) A & B, B & D, C & A, D & C

d) A & C, B & D, C & A, D & B

15) State whether this Example is illegal or legal


<! Doctype html Public “-//w3c//DTD HTML 4.01 Frameset/EN” “http://w3org/TR/html4/frameset.dtd>

<HTML>

<HEAD>

<TITLE>

A frame set document </title>

</head>

<frameset cols=”50%,50%”>

<frame src=”contents_of _frame1.html”>

<frame src=”#anchor_in _same_document”>

<noframes>

……..some text</noframes>

<h2> <a name =”anchor_in _same_document”> important Section</a><h2>

………….some text…………

</noframes>

a) Legal

b) Illegal

c) Neither Legal nor Illegal
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